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1. Find the force (kN) in each cable (BC, AC, DC, and EC) needed to support the 1000-kg mass

(£=9.8 m/s?). (AEH 5 25%, each cable force 73 #i5: 6.25%)
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Fig.1 For problem 1.

9 Ifthe roller at B can sustain a maximum load of 9 kN, determine the largest magnitude of each of

the three forces F that can be supported by the truss. Then, find the member force of AB.

(A8H 5 25% » Force F(12.5%), member force of AB(12.5%))
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Fig.2 For problem 2.
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Fig.3 For problem 3.
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Fig.4 For problem 4.
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3. Draw the shear and moment diagrams for the beam.

(ZEE K 25%, shear diagram(12.5%), moment diagram(12. 5%))
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4. The members of the mechanism are pin connected. If a vertical force of 800 N acts at A, determine

the angle 0 for equilibrium. The spring is unstretched when 0 = 0°. Neglect the mass of the links.
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